1.

3 XaxbxlxaE &

® 3abla

@ 3aab

47\ A

@ 3a%b

® 3xaaxb

® 3laab



= ety

FALO

__01_

ajo
mj
Z
al2|
W

A

g

ol

A& 3km 2 xAIZF &<t A

2.

km



3.

S &wE500g

=

oo

@ 0.05x%
@ 5x%

® 0.5x%



@ 50 ® 52 @ 54 ® 60

O 40



@ 7k=29] Aoz} x, M2e] Aol7ty 9 AAZHG ] Yol 10
Hoh Ao

® w9 dol7} x 1 A o] a9 dol7t 12 Hrt At

@ 200 Yrta] WL x A2 AbT 2000 D WAE Y]
ALE2E0] 400 Yol Tt

® x 9] 2 Hjo] 3 & HTF ol



6. TsE7 T3 AS BF =Y

Ex]
@ 1-3x=-2 © 2x+2=2
©® 3-x=1 ® 8-4x=-4
@ 4x+1=13
ONW) ® Q0,0 ® 0,
ONCNE) ® 0,0,6




@ 5x-9
@ 2x—-x=x+4

® x(x+1)=x*-2

@ x24+2x=1-x2

@ 3(x+2)=6+3x



ohe WA o shE Fohw?

3x—4 14
x +1=0250-

@ x=-20 @ x=-12

@ x=10 ® x=14




9. SHax-2=x+b0] 7t 755 W W, a, b 2 H27

Da=1,b=2 @ a=-1,b=-2
@ a=1,b=-2 @ a=-1,b=2

® a=2,b=-2



10.

T f(x) = 5 =6 A £(27) = a ©1 f(45) = b L o,

27

2a - 3b
3

D -3 @ -1 ® 3 @1 ® 9

94



11. X9 gl a,e,d,e°ldl, YO Fkol b,c,dA (X,Y)E2 o]Fo A=
SR A58 Fofolet

B e 7



YA

@ B ®cC

D A

® E

@ D




13.

d Aa, b) 7F A0 obd x 5 9ol Sl o], th5 F 42 A

®a=0,b=0

@ a+0,b#0

@ a=0,b#0

® a=20,b=0

® a#0,b=0

29



— — 2
oty = ax 9] 1= A (5,8) = Ay,

(=6,b), (c,=3)= A'd W, a + 2b - 3¢ 9] 2?2

® 18 @ 19 ® 20 @ 21



15.

Ty = Zx o] T mA} A 2 AEHT} A 4 AFEHL 2 ),

y
a*-=b, b-a)> A 2 AEHA ol A=A Aot (Hoa>b)

—

RdeA AwRdE

]
™



16. -2(3x-1)- i(l?x— 32) =ax+b & W ab O] & ot}

E'Hl-: ab:



17.

old thgtAlef 4x - 3 & HlsfoF &
o Hglet. o] W, vr=A| Althet A

O x+1 @ 3x+1

@ 3x-3 ® Tx+1



18. HEA 3:0.1(x+6) =3:09xE Eol=}

Be-



@ 2 ® 3 @ 4 ® 5

D1



20.

52 749 F4& 7, & T ARl thro] Zhgtd ol SRt} 16

W wol 7HEH. o] o, &°]

2 ok o] ofefe} 2

7
o

Hl A9 S x izt & o, x

. A9 & FotoieE

2x+A =0

Y EEE



21.

Qo] 2] o 427 39 5 Aele] A5 ek o] 40] 4o
Ao o] g7hoh Ao Apelo] RS AR Y AE Surt ouE
ARAGD F W), A& 5E T,

D R
=%



22.

6% ©] Aa=o] 350g°] At of7]of AF-E 14g H Eol
E9o] 55 Fstofzt.

aa: %



23. the 3 84 gL AL

A(ng:w2& @]
oue e
(2% )311]4/\]-_1EL_4 =

( Z _2) 3 3 A2 o] A

® E(2,0): A 1 AHEH] A



24.

=

AT A A (m, ) F m, n 0] RE

alél-: 7H

] - 1

e

2

L

4

<
[
|



Zof 57 2kg 0] F71 B £A L] @ A2 WEYEY o
193} o] FFE o=tk A MolA 24 g 2717 2]
729t B70] BAlo] F& Fo] A P & o, 45| BAS

Fafolat,

go ok




